
 



(𝑣𝑙𝑚) 𝑡0 

(1) 𝑟𝑣𝑙𝑛0,1 = 𝑣𝑙𝑚0

𝑟𝑣𝑙𝑛
𝑣𝑙𝑚

(𝑖𝑙%)
(𝑣𝑙𝑚) (𝑣𝑙𝑚%)

(2) {

𝑟𝑣𝑙𝑛1,2 = 𝑙𝑜𝑦𝑐1,2
𝑣𝑙𝑚1 = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)

𝑙𝑜𝑦𝑐1,2 =  𝑙𝑜𝑦0,1. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)

𝑙𝑜𝑦𝑐

(3) {

𝑟𝑣𝑙𝑛2,3 = 𝑙𝑜𝑦𝑐2,3
𝑣𝑙𝑚2 = 𝑣𝑙𝑚1. (1 + 𝑣𝑙𝑚%) = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)

2

𝑙𝑜𝑦𝑐2,3 =  𝑙𝑜𝑦𝑐1,2. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)
2

(4) 

{
 
 

 
 𝒔𝒊  𝑣𝑙𝑚3 > 𝑙𝑜𝑦𝑐3,4  𝒂𝒍𝒐𝒓𝒔  𝑟𝑣𝑙𝑛3,4 = 𝑙𝑜𝑦𝑐3,4

𝒔𝒊  𝑣𝑙𝑚3 < 𝑙𝑜𝑦𝑐3,4  𝒂𝒍𝒐𝒓𝒔  𝑟𝑣𝑙𝑛3,4 = 𝑣𝑙𝑚3

𝑣𝑙𝑚3 = 𝑣𝑙𝑚2. (1 + 𝑣𝑙𝑚%) = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)
3

𝑙𝑜𝑦𝑐3,4 =  𝑙𝑜𝑦𝑐2,3. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)
3

(5) 𝑟𝑣𝑙𝑛9,10 = 𝑣𝑙𝑚9



Période rrent (ri%=2%) mrv (mrv%=2%) noi noi% 

1 100,0 100,0 100,0   

2 102,0 102,0 102,0 2,0 

3 104,0 104,0 104,0 2,0 

4 106,1 106,1 106,1 2,0 

5 108,2 108,2 108,2 2,0 

6 110,4 110,4 110,4 2,0 

7 112,6 112,6 112,6 2,0 

8 114,9 114,9 114,9 2,0 

9 117,2 117,2 117,2 2,0 

10 119,5 119,5 119,5 2,0 

11 121,9 121,9 121,9 2,0 

12 124,3 124,3 124,3 2,0 

13 126,8 126,8 126,8 2,0 

14 129,4 129,4 129,4 2,0 

15 131,9 131,9 131,9 2,0 

16 134,6 134,6 134,6 2,0 

17 137,3 137,3 137,3 2,0 

18 140,0 140,0 140,0 2,0 



(𝑖𝑙% = 𝑣𝑙𝑚%)

(5) 𝑟𝑣𝑙𝑛% = 𝑖𝑙%

Période rrent (ri%=2%) mrv (mrv%=4%) noi noi% 

1 100,0 100,0 100,0   

2 102,0 104,0 102,0 2,0 

3 104,0 108,2 104,0 2,0 

4 106,1 112,5 106,1 2,0 

5 108,2 117,0 108,2 2,0 

6 110,4 121,7 110,4 2,0 

7 112,6 126,5 112,6 2,0 

8 114,9 131,6 114,9 2,0 

9 117,2 136,9 117,2 2,0 

10 119,5 142,3 142,3 21,5 

11 145,2 148,0 145,2 2,0 

12 148,1 153,9 148,1 2,0 

13 151,0 160,1 151,0 2,0 

14 154,1 166,5 154,1 2,0 

15 157,1 173,2 157,1 2,0 

16 160,3 180,1 160,3 2,0 

17 163,5 187,3 163,5 2,0 

18 166,8 194,8 166,8 2,0 



(𝑖𝑙% < 𝑣𝑙𝑚%)

Période rrent (ri%=4%) mrv (mrv%=2%) noi noi% 

1 100,0 100,0 100,0   

2 104,0 102,0 104,0 4,0 

3 108,2 104,0 108,2 4,0 

4 112,5 106,1 106,1 (1,9) 

5 110,4 108,2 110,4 4,0 

6 114,8 110,4 114,8 4,0 

7 119,4 112,6 112,6 (1,9) 

8 117,1 114,9 117,1 4,0 

9 121,8 117,2 121,8 4,0 

10 126,7 119,5 119,5 (1,9) 

11 124,3 121,9 124,3 4,0 

12 129,3 124,3 129,3 4,0 

13 134,4 126,8 126,8 (1,9) 

14 131,9 129,4 131,9 4,0 

15 137,2 131,9 137,2 4,0 

16 142,7 134,6 134,6 (1,9) 

17 140,0 137,3 140,0 4,0 

18 145,6 140,0 145,6 4,0 



(𝒊𝒍% > 𝒗𝒍𝒎%)


